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I. (10 pts) Use the limit definition of the definite integral to evaluate f'l {xg - En:)dr.
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2. (15 pis) Use the Fundamental Theorem of Calculus (Part 1T) to evaluate j"{x“- - 2x)dx
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B | (Bonus 5 pts) What would the x, be if the interval w
see the x,. Don’t do any more than that,
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stead of [0, 3], in Problem #17 T just want to
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3. BT Show thatj vy = J‘ 1—x" }d.v. by evaluating each, separately.
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- (Bonus 5 pts) Draw a picture and explain what’s going on in the previcus problem
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4. {10 ptf; ) Evaluate the definite integral,
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B% (Bonus s pis) Ewvaluaie the definite integral fu |3-L:L‘.1: tan x| dx
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5. (10 pts) Evaluate the indefinite integral. Tt will involve a u-substitution, I
U= qu(—;’?Au:QJ\[@ éﬁ:dY
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6. €Hpt=T Evaluate the indefinite integral. J-;;:f‘_ . QAua 95
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ey (Bomus 3 pts) Find an upper bound and a lower bound for the definite mtegral J: Jinﬁv . You do nor know how
X

to evaluate this integral, using only this semester’s worth of training. But you car put a ceiling and a floor on it,
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7. (10 pts) ?uppusc the velocity {meters per second) of & particle moving in a straight line is
w(t)=—t* + 41+ 5. Tell me what the two integrals represent. V()
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35 (Bonus 5 pts) Evaluate the 2" integral in the previous problem: ﬁv(rld:

(- E+)

V) qoSve f v(6)2 0
//\ il = ?-Vm Sfov) <o
<~ T‘\J L e [—0/[03 .

é‘i —~ Z ﬁmr&c
O

_ QZ’JC’L 4—%4:—4'3‘>c(’é' _ f(ft'l-l—‘ﬂ,—-#?)cji_
b) S

G
) glc]

EYARIGRIY0

b
:‘L’%_fJf?.s —Eli* 7 4—30—(\(3_;-\—75_3]
= -%7 35 Y 7 +F+ +30 Y “?Yj
iy Y e N C %7

uo
’2>
8. (10 pts) Perform the indicated diiTerentiation: ;wog (Lf(‘(xﬁd Qgcéxs) qu al Q,auq a.

The derivative of the antiderivative is the integrand, loosely speaking.
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